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1. (543) Central bankers struggling against weak growth and falling inflation have
come up with a cunning plan: shift the problems onto someone else. Finding
it hard to stimulate domestic demand through cheap credit in a world of rock
bottom interest rates, the next best solution central bankers have settled on is to
generate growth by boosting net exports. And the way to do that is to devalue
their currencies.
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The European Central Bank has announced a number of policies over the past six
months designed to boost its balance sheet. The more assets a central bank holds
the more liquidity is available to the wider economy and thus cheaper credit-
or so goes the theory. But even when interest rates are at rock bottom levels,
massive central bank asset purchases by the Federal Reserve and BOJ have “led to
asignificant depreciation of their respective exchange rates,” noted ECB President
Mario Draghi in a speech on Thursday. Implicitly, he was saying; if they can do
it, s0 can we.

But in the short term, currency devaluation is a zero sum game. For every winner,
theres a loser. (WSJ, 2014.11.21)

(a) XEHE—EE, “But even when interest rates are at rock bottom levels.” ji;
] “interest rates” {EHY 2 R HAFIE,

(b) XEHH—TFE, “central bank asset purchases by the Federal Reserve and
BOJ have led to a significant depreciation of their respective exchange rates,”
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(c) XERFEHL—ER, “currency devaluation is a zero sum game’, EREHA
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(a) BERTHNEMRE—EGEPREIRTRE,

(b) Bh2oi3 M E, £E Fed WEWPBURIL BB RITEE;

(c) EE federal funds rate & T, F/R Fed IREHEBHEGE,;
(d) BLEEE.
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"z“iﬂ
4. (1543) In 2000 Britons held international assets worth 301% of GDP. ... Britain’s
current account—a measure of national saving—is thus determined not just by
the familiar trade deficit but also by the balance of overseas income and returns

to foreign investors. From 2001 to 2007 this flattered the nation: Britons reaped
more in interest and dividends from elsewhere than they paid out.

But the returns are vanishing. Britain’s net investment income has fallen from a
peak 0f 3% of GDP in 2005 to ~2.8% in 2014. That has caused the current-account
deficit to swell to 6% of GDP. ... Since 2011 GNI (Gross National Income)—a
measure which accounts for capital flows too—has grown less than a third as fast
as GDP. (Adapted from Economist, 2015.1.10)
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(©) (s5) BERLERRENYFHE, EEE 2005-2014 £ 8 GDP ZEER
RER o%, Wt EER— GNI 2 FHREEE S P, (35 £ x B{E
B BlIn(a+ x) = x0)

5. (1597) # IMF BI{55T, 2000-2009 1A, I B R yEeE (emerging markets) &9 A
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EHE AAJA = 1%, FERERSH AR ES Ak[k ERE D

(©) (577 19551995 EHIMH], B AT GDP HEEL 6%, 2T 25— Eit
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(@) (45) HERME, BFNTHERLERBERE2 HRA? SHEMBER
EREEAEERERR S

(b) (477) FEFHRARAIIBELE (X, 7,2) B2

(0) (457) KEIMRERE AL E, FEEENNEEIEES
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20 JUHFHYRR 7K ¥E2

AH &




REIR ¢

#8 &FELA)

Bk

117

4

HI2BAEIM4EFERALERELRRA

M 117
# 4 BEz% 4 7B

~I

- (1553) XBEBEES A B RERTHTES, CiRBERMBRT MR TR

RELE BHERSFEERELTHE. AESTZMES 0 AR, THEM
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ENRERERR, BUESINARE: BESUENEEREANER
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